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BC-02
December - Examination 2019
B. Com. Pt. | Examination
Business Statistics
Paper - BC-02
Time : 3 Hours ] [ Max. Marks :- 70

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: Ig ued ux ‘o', ‘¥’ IR ‘W fiF @Wuel § A g1 udd
Gus & MGATTAR AT & IR QIS

Section - A 7X2=14

(Very Short Answer Questions)
Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 2 marks.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
2 37l T ¢l
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1) (i) What do you mean by statistics?

AR 3 MY T AT & ?
(i) What is median?
HETPT TAT g 2
(iii) Give the formula of both quartiles.
QT Tl & B TS|
(iv) Explain Mean Deviation.
e e A9y |
(v) What is fixed base index?
fRR YR JdDiDh FIT 2 ?
(vi) What do you mean by Rank-correlation?
fi=g ey A AT AT THK ¢ ?
(vii) What is simple probability?
AR TR a1 8 2
Section - B 4 x7=28

(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 7 marks.

(Tvs - 9)
(oTg ITRIT UeA)
fAder: gl IR Ul & IR SIVI MY 3 ITR Bl fepay
200 orsgt ® gRAfAT HT| g U9T 7 3fpl &l gl

2) Statistics can prove anything. Comment.

AT o ff aR Tt Bl TS|
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Explain the meaning of universe and sample.

g Ud gfcresf &1 aref qHsed|

From the following table, calculate median.
=1 aripel | Hegd! Sd DI |
90, 95, 100, 102, 125, 145, 120, 150, 200, 175

What is skewness ? State the names of its measurement.

fumdT & T NI g ? 3P Hu o ARt & A1 IdTsy|

What is fixed base index? Explain with example.
fRR JaHi® 5 Fed ¢ ? SSeuNIed AT |

Calculate the coefficient of correlation from the following.
1 A Ay U DI TUET B -
N =10, ex2=8,250 &)*="724, edxdy=2,330

Discuss the methods of smoothing a time series.

T Pl AU BT FHBR! g1 bt fAferat a1 quia HIR|

State any two limitations of index numbers.

[IDBIDh DI PIS QI AN TS|

Section-C 2 X14=28

(Long Answer Questions)

14 marks.

BC-02/500/ 4 (3) (P.T.0)

Answer any two questions. You have to delimit your each
answer maximum up to 500 words. Each question carries



145

(Tvs - ¥)
(e TR ¥ed)
fAder : forgl S U9l & IR <INATI 31T 31U IR B 3ferpad 500

et o uRRAfAa HIRTTI Tl U9 14 3l & &

10) What are the essential of a good questionnaire? Prepare a

qguestionnaire to be used in an inquiry conducted to assess the

unemployment problems.

U 3! URATIE! & UHRT A& &1 § 2 SRISFIRT bl AT T

3IeheT B 2 Sl & foTq T TRATae! IR ISR |

11) Define “classification. What are its objects?

ffepxur i aRYTT SRR | 3D T 29T & ?

12) Find the value of mean and mode from the following data.

=T el | AT T& qgetch STl IR |
Class 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55 | 55-60
Frequency | 50 | 70 | 80 | 180|150 | 120 | 70 | 50

13) Find out coefficient of correlation from the following data in

respect of height (in inches) of father and sons.

31 FHpT A T Jor G Y o (Fait H) Agwrey i S

PR
Father | 65 | 63 | 67 | 64 | 68 | 62 | 70 | 66 | 68 | 67
Sons |68 |66 |68 |65|69|66|68|65 71|67

BC-02/500/4

(4)



